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LESSON III.

3 birds are on one branch of a grape vine, and 2
on another branch. How many en both branches.-^

3 and 2 are how many?

3 boys are up to recite, and 3 others are coming
to recite with them. How many will there be?

William owns 3 fish-hooks: if he should buy 6

more, how many would he then have?

3 and 6 are how many?

uuu JuuuuJ
Jane put 3 pins into a cushion, and Lucy put in

more. How many were there in the cushion then?

3 and 9 are how many ?

III!
Andrew had 3 marbles, and, returning from school,

he found 10 more. How many had he then?

. 3 and 10 are how many?
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To be rtcited.

3 and 1 are 4
3 and 2 are 5

3 and 3 are 6

3 and 4 are 7

3 and 5 are S

3 and

3 and

3 and

3 and

6 are 9
7 are 10

8 are U
9 are 12

3 and 10 are 13
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